Q G S E é%riyéls((ﬁllﬁfﬁzrﬁl:cwingder

B, f5= Graphical symbols

()

| —+|

7T indE S Features

QGSERFISEHRBMNERES|E ZHESE ZTEERART
oSO EfriRA EFILIET & WAty FRitsamis
=

P

QGSE series light cylinder are european styled light cylinder, featuring a
compact structure and an installation mode and dimen sions in conformity with
1506431 standards. It also features reliable performance, durahility and high
inter-changeablility.

#2357 Note for type

HLA®Y [ Normal type

Ki. #5152 618 7= / with 1pc magnetic sensor switch
K2 #2218 FF 2= / with 2pcs magnetic sensor switch
FA#rieBlank. =7 % FF3< / no magnetic sersor switch

#1§% / Body dia
745 / Stroke
T T A / Adjustable buffer on both side

22 ZE 2T [ Install option:
== Bblank—#L F&#! [ normal type
MF1— L Ef= =% % Y / flange head mounting
MF2— R &Ri% = & 2 3! / flange foot mounting
MS1 —Zh15) BE 2= e 26 5/ foot mounting
MP2— R SR 37 #7 E1 3% 5 FRdr 2t #Y / clevis foot mounting
MP4— 2SR TR S1 2 T 4 45 AU / swivel foot mounting
T4 — =5 [8]38 64 BT E0 %0 2 7Y / middle mounting adjustable
MP2Z— R R ER T w2 F L g 8/

clevis foot mounting with single ring sub-bases

K RS %] Specification

T &+ /&2 Working medium FiE 240 S A9 £ 45 %2 5, Dry and clean compressed air containy oil mist
T £ J13E E Working pressure rang ' 232 100;0.15 1MPa

T &% 1% 5% B Working tempt rang = s0c

EEIER ﬁ F& 35 F Speed of piston [ 50 500mms

2a-13



QG SE k4l (=) b S EL
SEUES (Italy) Standard Cylinder

4ME R~ Outlook &Dimension
HA A / Normal Type

ZJ+5 (f7#8) (Storke)

WF PJ+S (78] (Storke)
S s EE
; G DD
& ¥ MR e e T i
L i
(T 1
8 I LN 3 2| w
v
1
o PM il = PM o
=amE R

e A . B . DD - E . EE . C KK MM PJ PM TG VE | WF - ZJ _Buﬁmsmrke

232 22 30 Ma 48 G1/8 9 M10x1.25 12 B4 30.3 325 185 26.5 1375 20

240 24 | % | M6 | 54 G4 9 M12x1.25 16 % | 38 38 | 2 | 30 | ™ 023

@50 32 40 Ma 65 G1/4 9 M16x1.5 20 97 337 465 255 3758 162.5 25

263 32 45 Ma 752 @ G3/8 9 M16x1.5 20 107 38 56.5 25 37 176 25

280 40 45 M10 94 G3/8 9 M20x1.5 25 1195 40 72 35 46 1975 30

@100 40 55 M10 117 G1/2 9 M20x1.5 25 1225 435 89 38 5] 2095 30

LEEF X R 14 Install Option and Accessory
MP2Z-R 2 W E i+ HEL 2R | MP2Z-clevis foot mounting with single ring sub-bases
AM o | MG
XD+S XN i =7
! -

‘L%z‘“% AM BM CH oM HB cr MG XN EN cD T XD
@32 21 18 32 38 7 8 53 31 5 10 10 1595
@40 24 22 36 41 i 10 60 35 54 12 15 179
@50 33 30 _ 45 50 _ L] _ 12 68 45 65 12 16 1895
@63 o 35 50 52 9 12 78 50 67 16 16 208
@80 47 _ 40 _ 63 66 _ _1 1 _ 14 98 60 86 16 20 2335
@100 55 50 71 76 1" 17 118 70 96 20 20 2505

2a-14



(Italy) Standard Cylinder SE(ES

MS1 -4 5] Ji§ E Z2 3= 7Y / MS1-foot mounting

(B ESELEY

QGSE

Accessorylf}

- XA+S Ny
I3 '
L —’_] S :
it  Com— I !
AD SA+S SB
—-— — -— — - -—
<L
MP2-EEf W B %38 / MP2-clevis foot mounting
g HE
: MR g
== [} ‘
i |~ i
L.
FL

AD+5

—

MP4-E & 8 HIfZe2E8Y / MP4-swivel foot mounting

‘?.
S
1% !
—-— L
Lo _EW
XD+S
“‘%g‘]é AB | SB TR  AH AO AT | CB EW ©D | F L MR | sSA uB | xa | xp
032 7 % | 48 | 32 65 | 35 | 26 26 {0 | 22 | 13 | 10 | 159 45 | 1615 | 1595
040 10 | 3 | 54 | 3% 5 35 | 28 28 12 | 2 | 16 12 | 80 52 | 182 | 179
050 10 45 | 6 | 45 13 5 % 3% 12 | 27 16 | 12 | 1895 60 | 1945 | 1895
063 0 80 | 75 | 50 | 13 5 0 40 16 | 32 | 2 6 | 208 70 | 208 | 208
080 2 6 | 94 | & 14 6 50 50 16 | 3 | 22 | 16 | 2335 90 | 2385 | 2335
0100 % 7 A | 7 16 6 80 60 20 | 4 57 | 20 | 2405 110 | 2505 | 2505

2a-15



